SMART TABS SX Series

Assembled Dimensions
& Parts Identification

20"
£ wide "}
i

Note: Follow the installation
instructions for determining
the correct mounting

<+«——Transom Bracket - #TB9510-1
Snap & Lock Pin (5/16” Dia.) - #EFP9510-2
End Fitting #EF9510-2 (Removable)

Black Cable Clamp = GA5000-80 (80Lb.)
Blue Cable Clamp = GA5000-60 (60Lb.)
Red Cable Clamp = GA5000-40 (40Lb.)
Purple Cable Clamp = GA5000-30 (30Lb.)
Green Cable Clamp = GA5000-20 (20Lb.)

location for the Transom *
Bracket. The 10 1% "
distance shown in the
illustration may change
depending on the transom

angle and design.

— Actuator l
#GA5000-" X

10 2"

#SCR1434
(#14 Stainless
Sheet Metal Screws)
for mounting the
hinge and transom
bracket

Hinge
#CH9510~
e
Nylon Nut

318”16 »
A4rLN3816 i

v.4------.-.---------

2'1/8”

- \

End Fitting —, "._\- :
|\ -
~

Ry (Removable)
~ #EF9510-2 )
Trim Plate——» |130-0
516" Bolt #NMS516 & e:ep

#TP9510-1

5/16"” Nut #HLN51618NB

End Fitting
(Removable)
EF9510-2 | % A — %
S e i Wide ..
t‘ ----------------- 955!! ——
VR wide
SX9510 series Parts List:
Part # Description Qty. Per Kit

TP9510-1 Trim Plate 2 each
CH9510 Hinge 2 each
NMS3816 Machine Screw/Bolt Nylon 1 3/4" 4 each
HLN3816 Nut Nylon 3/8" - 16 4 each
GA5000- _ x* Actuator w boot & end fittings 2 each

*Insert two numbers indicating Actuator Pressure (ie. GA5000-60X)
M u I_ EI E“ E TB9510-1 Transom Bracket 2 each
[ —— EFP9510-2 Snap & Lock End Fitting pin 2 each
. NMS516 Nylon Bolt 5/16” 2 each
041)564-5221 www.marineland.kr HLN51618NB Nylon Nut 5/16" 2 each
SCR1434 Stainless Screws #14 x 3/4” 16 each
My Doc 2009Photos & ArtiSXAssembed Dim Drawing 2009.cdr EF9510-2 End Fitting for Actuator Included



